Form 604

Corporations Act 2001 Section 671B

Notice of change of interests of substantial holder

To Company Name/Scheme PAPERLINX LIMITED (PPX)

ACN/ARSN 005 146 350

1. Details of substantial holder

Name Suncorp-Metway Limited and its subsidiaries

ACN/ARSN (if applicable) 010 831 722

There was a change in the interests

of the substantial holder on 23/03/09

The previous notice was given to the company on 10/03/09

The previous notice was dated 06/03/09

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate had a relevant interest in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities	Previo	us notice	Present notice		
Ordinary shares	Person's votes Voting power		Person's votes	Voting power	
	38.432.535	6.3674%	44,545,061	7.3801%	

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change	Consideration given in relation to change	Class & number of securities affected	Person's votes affected		
Since previous	Suncorp Metway Investment Management Ltd	Refer Annexure 2 (S M I M L)					
notice	Tyndall Investment Management Ltd	Refer Annexure 2 (T I M L)					

4. Present relevant interest

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Persons entitled to be registered as holder	Nature of relevant interest	Class & number of securities	Person's votes
Refer	Annexures 1 & 2				

5. Changes in association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
Not Applicable	

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address	
Refer to A	nnexure 1	

Signature

Print name C. Chuter		Capacity	Company Secretary
Sign here		Date	25/03/09



Annexure 1

Relevant interest holder	Registered holder of securities	Registration details	Person's Votes	
Suncorp Metway Investment Management Ltd	SERVICES FTT LTD (AET) GFO BOX 30/8, SYDNEY NSW 2001		341,709	
Suncorp Metway Investment Management Ltd	Nvestment Management Ltd SERVICES PTY LTD (IPT) GPO BOX 5078, SYDNEY NSW 2001		66,390	
Suncorp Metway Investment Management Ltd	Suncorp Metway Investment Management SUNCORP CUSTODIAN SERVICES PTY LTD GPO ROX 5078		4,794	
New Zealand Guardian Trust Company Ltd	NEW ZEALAND GUARDIAN TRUST COMPANY LTD FERGUSON SIMON SETT TRUST	ANZ NOMINEES CUSTODIAN SERVICES, MELBOURNE	667	
New Zealand Guardian Trust Company Ltd	NEW ZEALAND GUARDIAN TRUST COMPANY LTD FERGUSON SIMON TRUST	ANZ NOMINEES CUSTODIAN SERVICES, MELBOURNE	403	
New Zealand Guardian Trust Company Ltd	NEW ZEALAND GUARDIAN TRUST COMPANY LTD GARRICK DAVID ESTATE	ANZ NOMINEES CUSTODIAN SERVICES, MELBOURNE	8,464	
New Zealand Guardian Trust Company Ltd	NEW ZEALAND GUARDIAN TRUST COMPANY LTD MAXWELL MAVIS J TRUST	ANZ NOMINEES CUSTODIAN SERVICES, MELBOURNE	1,463	
Tyndall Investment Management Ltd	ndall Investment NATIONAL AUSTRALIA CUSTODIAN SERVIO		499,657	
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF BTR	my v		
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	405,402	

		GPO BOX 5078	
		SYDNEY NSW 2001	
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	12,885,219
RAC INSURANCE	RAC INSURANCE	RAC INSURANCE PTY LTD GPO BOX 5078 SYDNEY NSW 2001	45,340
Tyndall Investment Management Ltd	WORKERS COMPENSATION NOMINAL INSURER	WORKERS COMPENSATION NOMINAL INSURER C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	1,593,768
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	13,550,474
Tyndall Investment Management Ltd	OPTIMIX LTD	OPTIMIX LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	3,819,353
Tyndall Investment Management Ltd	AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	9,017,465
Tyndall Investment Management Ltd	PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	216,150

Tyndall Investment Management Ltd	CATHOLIC SUPER FUND	CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	2,031,883
Suncorp Portfolio Services Ltd.	SUNCORP PORTFOLIO SERVICES LTD	SUNCORP PORTFOLIO SERVICES LTD GPO BOX 5078 SYDNEY NSW 2001	3,977

TOTAL UNITS 44,545,061

Annexure 2 (SMIML)

PORTFOLIO TRADE DATE TRADE NET AMOUNT PRICE UNITS

SIM AUSTRALIAN EQUITIES TRUST

AET 19/03/2009 Purchases 91328.43 0.545 167515

Annexure 2 (TIML)

PORTFOLIO	RADE TRADE ATE	NET AMOUNT	PRICE	UNITS			
AMP CAPITAL INVESTORS							
AMPC 17/03	2/2009 Purchases	24401.87	0.5	48679			
	5/2009 Purchases	75329.64	0.545	138078			
AMPC 18/03	2/2009 Purchases	11292.18	0.54	20858			
	2/2009 Purchases	32496.55	0.54	60025			
	2/2009 Purchases	12185.65	0.5297	22946			
	2/2009 Purchases	32654.58	0.5475	59582			
TYNDALL AUSTR	ALIAN SHARE WHO	DLESALE PORTI	FOLIO				
	3/2009 Purchases	266325.71	0.5	531290			
•	2/2009 Purchases	606096.55	0.545	1110965			
•	3/2009 Purchases	90858.81	0.54	167827			
•	5/2009 Purchases	314301.96	0.54	580553			
	5/2009 Purchases	92253.16	0.5297	173716			
TASWP 23/03	2/2009 Purchases	283443	0.5475	517174			
CATHOLIC SUPE	R RETIREMENT FUN	ND					
CSRF 17/03	/2009 Purchases	41406.33	0.5	82601			
CSRF 18/03	/2009 Purchases	13977.99	0.54	25819			
CSRF 18/03	/2009 Purchases	93245.24	0.545	170917			
CSRF 19/03	/2009 Purchases	48311.48	0.54	89237			
CSRF 20/03	2/2009 Purchases	14202.6	0.5297	26744			
CSRF 23/03	2/2009 Purchases	43605.94	0.5475	79564			
OPTIMIX							
OPTI 17/03	2/2009 Purchases	77927.68	0.5	155457			
OPTI 18/03	2/2009 Purchases	26315.04	0.54	48607			
OPTI 18/03	/2009 Purchases	175543.85	0.545	321769			
OPTI 19/03	/2009 Purchases	90937.31	0.54	167972			
OPTI 20/03	/2009 Purchases	26745.64	0.5297	50363			
OPTI 23/03	2/2009 Purchases	82157.66	0.5475	149906			
MERCER INVEST	MENT						
MERI 17/03	2/2009 Purchases	43863.11	0.5	87502			
MERI 18/03	2/2009 Purchases	128079.16	0.545	234767			
MERI 18/03	2/2009 Purchases	19200.18	0.54	35465			
MERI 19/03	2/2009 Purchases	56894.02	0.54	105090			
MERI 20/03	2/2009 Purchases	20550.32	0.5297	38697			
MERI 23/03	2/2009 Purchases	56225.05	0.5475	102589			

NSW BUSINESS CHAMBER LTD						
ABL	17/03/2009	Purchases	10175.5	0.5	20299	
ABL	18/03/2009	Purchases	3433.98	0.54	6343	
ABL	18/03/2009	Purchases	22909.65	0.545	41993	
ABL	19/03/2009	Purchases	11867.67	0.54	21921	
ABL	20/03/2009	Purchases	3488.52	0.5297	6569	
ABL	23/03/2009	Purchases	10705.83	0.5475	19534	
PUBLIC T	RUSTEE OF AC	Т				
PTACT	17/03/2009	Purchases	4531.58	0.5	9040	
PTACT	18/03/2009	Purchases	10193.21	0.545	18684	
PTACT	18/03/2009	Purchases	1527.78	0.54	2822	
PTACT	19/03/2009	Purchases	5283.36	0.54	9759	
PTACT	23/03/2009	Purchases	4896.92	0.5475	8935	
WORKE	RS COMPENS	ATION NOM	INAL INSUR	ER		
WCNI	17/03/2009	Purchases	32649.45	0.5	65132	
WCNI	18/03/2009	Purchases	11018.79	0.54	20353	
WCNI	18/03/2009	Purchases	73504.75	0.545	134733	
WCNI	19/03/2009	Purchases	38082.55	0.54	70343	
WCNI	20/03/2009	Purchases	11192.57	0.5297	21076	
WCNI	23/03/2009	Purchases	34372.21	0.5475	62716	